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Mohit.. 19 hours ago

Thank-you Sir for this very Amazing and Wonderful Class Session of today.. ., =
And

My Answer For today’s homewaork is-

Option D == 30 mins.
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Homewaork Answer 30
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Gaurav Saini 18 hours ago

Question 4th Or question no. 9same hai.... Par dono question mai ek formula 3T 3/ F1 5| ye batt jarur samjhayee ga

Sir ji... Namaskar gy o

e CJ Renly
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Q:-1- A man buys an article for rs.27.50 and sells it for rs.28.60. find his

gain %

T STTGHT Ueh SI&d Rl 27.50 TUF H ST § 3T 3H 28.60 TUA H AT 3| IHRT
TTHY, T HIfSTU 2

A. 1%
B. 2%
c. 3%

D. 4%
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Q:-1- A man buys an article for rs.27.50 and sells it for rs.28.60. find his

gain %

T STTGHT Ueh SI&d Rl 27.50 TUF H ST § 3T 3H 28.60 TUA H AT 3| IHRT
TTHY, T HIfSTU 2

A. 1%
B. 2%
c. 3%

D.
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Q:-2- If a radio is purchased for Rs.490 and sold for Rs.465.50. Find the

loss%?

T Teh ASAT 490 T H WIET ATAT § 3R 465.50 TAT W =T ATAT 3l &A% AT
I

A. 6%
B. 5%
c. 7%

D. 8%
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Q:-2- If a radio is purchased for Rs.490 and sold for Rs.465.50. Find the

loss%?

T Teh ASAT 490 T H WIET ATAT § 3R 465.50 TAT W =T ATAT 3l &A% AT
I

A. 6%

c. T%

D. 8%
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Q:-3- find S.P when CP=56.25,gain=20%.

forsha T [Ta I ST /T qed = 56.25, T = 20%

A. Rs.34.6
B. Rs58.75.
c. Rs67.50.

p. Rs 35
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Q:-3- find S.P when CP=56.25,gain=20%.

forsha T [Ta I ST /T qed = 56.25, T = 20%

Rs.34.6

Rs58.75.
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Q:-4- A person incurs a loss of 5% be selling a watch for Rs.1140. At what
price should the watch be sold to earn 5% profit ?

Ueh I21 Rl 1140 TUL H I U Ueh AR Rl 5% <hl BT Bl gl 5% o Aot
&I o foTu gt i ford shiva WX =T AT ieu?

A. 1260
B. 560
S RY/

p. 1500
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price should the watch be sold to earn 5% profit ?
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Q:-5- A book was sold for rs 27.50 with a profit of 10%. if it were sold for
rs25.75, then what would be % of profit?

Ueh ToRdTa ST 10% oF ST o AT 27.50 TUA W =T 19T A 30 25,75 TUA |
ST SATAT &, AT 19T 1% T gAY

A. 4%
B. 3%
c. 2%

p. 1%
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Q:-5- A book was sold for rs 27.50 with a profit of 10%. if it were sold for
rs25.75, then what would be % of profit?

Ueh ToRdTa ST 10% oF ST o AT 27.50 TUA W =T 19T A 30 25,75 TUA |
ST SATAT &, AT 19T 1% T gAY

A. 4%
B.
c. 2%

p. 1%
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Q:-6- A grocer purchased 80 kg of sugar at Rs.13.50 per kg and mixed it

with 120kg sugar at Rs.16per kg. At what rate should he sell the mixer to gain
16%?

Teh TART T 80 FoReT =T 13.50 Tud Ufer foret hr o2 & @iidt 3T =& 120 ot
==t o T 16 TU Ut et <Y = & ot femm 16% &t & e &6 < fero
3 THeIR &l TohT 21 UR SeET ATfRT?

A. 5.90 per kg
B. 17.40 per kg
c. 10.08 kg

D. 23.89 per kg
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Q:-6- A grocer purchased 80 kg of sugar at Rs.13.50 per kg and mixed it

with 120kg sugar at Rs.16per kg. At what rate should he sell the mixer to gain
16%?

Teh TART T 80 FoReT =T 13.50 Tud Ufer foret hr o2 & @iidt 3T =& 120 ot
==t o T 16 TU Ut et <Y = & ot femm 16% &t & e &6 < fero
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Q:-7- If the Cost price is 96% of Sp then whqt is the profit %
afs e Wo forshar Wed T 96% & At oY, TR 3
A. 5.50%
B. 2%
c. 417%

p. 3.45%
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Q:-7- If the Cost price is 96% of Sp then whqt is the profit %
afs e Wo forshar Wed T 96% & At oY, TR 3
A. 5.50%
B. 2%
c. 417%

p. 3.45%
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Q:-8- The C.P. of 21 articles is equal to S.P. of 18 articles. find gain % ?
21 TG T HAAEH 18 TGt o Torshaded & sRTeR g1 AT UTd9rd F1d hitag ?
A. TT%
B. 23%
c. 50/3%

D. 45/7%
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Q:-8- The C.P. of 21 articles is equal to S.P. of 18 articles. find gain % ?
21 TG T HAAEH 18 TGt o Torshaded & sRTeR g1 AT UTd9rd F1d hitag ?
A. TT%
B. 23%
c. 50/3%

D. 45/7%
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Q:-9- Pure ghee cost Rs.100 per kg. After adulterating it with vegetable oil
costing Rs.50 per kg, A shopkeeper sells the mixture at the rate of Rs.96 per kg,
thereby making a profit of 20%.In What ratio does he mix the two?

715, ©ft ST SR 100 TIF T FoRett 81 50 TUA T oheTt o Taie det o Arer fuetrae
A o ATE, Teh ShTASR THI0T BT 96 T Tfd fehett sl 32 & ST &, Trae 20%
ST AT g1 9 T i fohdl STTATa § forerrar 82
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costing Rs.50 per kg, A shopkeeper sells the mixture at the rate of Rs.96 per kg,
thereby making a profit of 20%.In What ratio does he mix the two?

715, ©ft ST SR 100 TIF T FoRett 81 50 TUA T oheTt o Taie det o Arer fuetrae
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Q:-10- By selling 33 metres of cloth , one gains the selling price of 11

metres . Find the gain percent ?

33 WieX hUST o UX 11 HieX T {orshal Hed UTH FIaT g1 AT TTa9ta 7t
T

A. 10%
B. 20%
c. 30%

pD. 50%
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Q:-10- By selling 33 metres of cloth , one gains the selling price of 11

metres . Find the gain percent ?

33 WieX hUST o UX 11 HieX T {orshal Hed UTH FIaT g1 AT TTa9ta 7t
T

A. 10%
B. 20%
c. 30%

D. 50%
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Q:-11- A vendor bought a banana at 6 for Rs.10 and sold them at 4 for

Rs.6. Find his gain or loss percent?

Ueh farehdT ¥ shet Rl 10 TUY H 6 Al 2T T THIET TR I 6 TUT H 4 AT ST A o=
o= @Rt @ =t B utavra Jra Rk

A. 5%
B. 6%
c. 10%

D. 8%
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Q:-11- A vendor bought a banana at 6 for Rs.10 and sold them at 4 for

Rs.6. Find his gain or loss percent?

Ueh farehdT ¥ shet Rl 10 TUY H 6 Al 2T T THIET TR I 6 TUT H 4 AT ST A o=
o= @Rt @ =t B utavra Jra Rk

A. 5%
B. 6%
c. 10%

D. 8%
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Q:-12- A man brought 3 toffees at for a rupee. How many for a rupee

must he sell to gain 50%?

Ueh ATSHT Ueh BUY H 3 SITHIT TRIET | 50% hT AT UTH Thid & [oT0 3 Ueh 5UA
H TeRa=T TRl 9o T2 u?

A. 1
B. 2

c. 4
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Q:-12- A man brought 3 toffees at for a rupee. How many for a rupee

must he sell to gain 50%?

Ueh ATSHT Ueh BUY H 3 SITHIT TRIET | 50% hT AT UTH Thid & [oT0 3 Ueh 5UA
H TeRa=T TRl 9o T2 u?

A. 1
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Q:-13- If the manufacturer gains 10%, the wholesale dealer 15% and the

retailer 25%, then find the cost of production of a table if the retail price was Rs.
1265.

gt FuTar st 10%, ATk ST 6T 15% TR G FrshaT st 25% 1 1 g
2, A1 Ueh ¢aeT ShT IcUTSH ST T ShITTT AT T T 1265 U AT?

A. 521
B. 670
c. 800

p. 150
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Q:-14- Monika purchesed a pressure cooker at 9/10th of its selling price
and sold it at 8% more than its S.P .find her gain percent ?

Hif-eRT Ueh I9R ekt hl 36k Trsha e o 9/103 et WX wrfiaet @ of S|
I Toreha Hed | 8% 3TTereh WX Serdt g1 SHERT TTH TTa9rd FTd hiteg)

A. 50/0
B. 10%
c. 20%

p. 15%
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Q:-14- Monika purchesed a pressure cooker at 9/10th of its selling price
and sold it at 8% more than its S.P .find her gain percent ?
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Q:-15- An article is sold at certain price. By selling it at 2/3 of its price

one losses 10%.,find the gain at originalprice ?

T ] (TS o aX o=t ATt 31 39 3Eeh! hIAd o 2/3 U d<H WX 10% hi

I Bt &, ol Hod U ST 7T shiterg?
A. 12%
B. 10%
c. 35%

D. 40%
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Q:-16- A tradesman sold an article at a loss of 20%.if the selling price has
been increased by Rs100,ther would have been a gain of 5%.what was the cost
price of the article?

Tk SATATY A Teh I ST 20% <hT FTH U =T ATE Forshd 7o 100 S i
heg, Y ATAT, AT IH 5% THT TTH BT T T TN Hod FAT AT?

A. 236
B. 450
c. 325
pD. 400
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been increased by Rs100,ther would have been a gain of 5%.what was the cost
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Q:-17- A man sells an article at a profit of 25%if he had bought it 20%
less and sold it for Rs 10.50 less,he would have gained 30%find the cost price

of the article.

Teh SATEHT Teh T T 25% oh AT U AT ¢ A 361 39 20% FHH TIET gt
TR 3 10.50 TUA HH UL AAT FAT, AT IH 30% T ATH AT, T T AN ol

AT I

A. 25
B. 50
c. 75

p. 100
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Q:-18- A man sells a typewriter at a loss of 5%. If he sells it at Rs. 80
more he will get a profit of 15% find the cost price of the typewriter ?

34T:- Ueh SATTHT 5% <h! BT U TIEUNTZEX OelaT 3| Tie I8 3 80 TUH 3feres §
AT & AT 15% T AT FHERTT 2 ZT3uNrger Sl @RI o T ST 2

A. 400
B. 500
c. 600

p. 800
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